)
0.717 m%/s
0.279 m/s
0.438 m/s

1/ 2000
1/ 2000
= 0.015
| B=1,300 | =1,300
N |
e ___ _
¥ =
© S s =< S
Ni S sl o ~
~ 1] i ~ 1
L < - ™ =
= i &
I
i
(m) 0.900 0.700 0.700
H(m) 0.748 0.375 0.567
B(m) 1.300 1.300 1.300
A(m2) 0.972 0.488 0.737
P(m) 2.796 2.050 2.434
R(m) 0.348 0.238 0.303
| 1/ 2000 1/ 2000
V(m/s) 0.738 0.573 0.379
hv(m) 0.028 0.017 0.007
Q(m3/s) 0.717 0.280 0.279
Fr 0.273 0.299
1=3.00m( ) =1.30m
Fr=0.273

0.05L1/B+0.40)=0.05x 3.00/1.30+0.40

B=1.30m
B/H;=1.74
1.5 2.0

H=0.748

0.52

>

(hs™)

0.273

OK



em

23

-0.133 |m
H,"= 0.700-0.133= 0.567 m
L1>2 B=2x 1.30 2.60 L1= 3.00
3/2
1 em
: 3/
1 3.00
em- el+ e2 /2
el-
e2-
1.838 1+0.0012/ ., 1-/ /L, /10

=1.838 1+0.0012/0.187)x (1-0.187/3.00 /10
= 1.804x 3.00x 0.18773/2= 0.438 |m3/s

Ly Hem=

Z,

22: (H1+hv1)_(H2+hv2)_fgc(hvl_hVZ)_ 1 m

(0.748+0.028)-(0.375+0.017)-0

1.804

0.1870 m

Lo

.10x (0.028-0.017)-1/232,062x 2.00

= 0.38 m
A E3=Fy(hy-hp)+l, L= 0.001 m
L3 2.000 m
I, 1/ 232,062
f 0.10

gc



-_< U >

A
P:
v
|
A
P:
v
|

498.138+0.952+0.003 =

- (0.758+0.181)x 1.300=

(0.758+0.181)x 2+1.300=

- 0.717/1.221=
1/(0.015% 0.587)"2/(1.221/3.

- (0.760+0.192)x 1.300=

(0.760+0.192)x 2+1.300=

- 0.279/1.238=
- 1/(0.015x 0.225)"2/(1.238/3.

= 0.567x 1.300=
0.567x 2+1.300=
- 0.279/0.737=
- 1/(0.015x 0.379)72/(0.737/2.434)"(4/3)=

0.952 (

)

499.093

498.138+0.952+0.003+0.000 =

A E2=  0.000

0.K

2

1.221 m
3.178 m
0.587 m/s
178)"(4/3)= 46,181
I= 179,065
179,065
1.238
3.204 m
0.225 m/s
204)"(4/3)= 311,948
I= 232,062
0.737
2.434 m
0.379 m/s
152,175
L2:  1.00
A 1.238
P:  3.204
499.093 V:  0.225
1: 311,948
I= 311,948



a= 0.010

h,= Hi+a = 0.748+0.010 = 0.758 m
h= hi#Z,=  0.758+1/2,000% 3.00 = 0.760 m
he"=(v,")/2g=  (0.279/(0.760+0.192)x 1.300)72/19.6= 0.003
Hep= ZptH, " +hys™ +A Ex-hyp"-h,
= 0.380+0.567+0.007+0.001-0.003-0.760
= 0.192 m
hy"=(v;")/2g= (0.717/(0.758+0.181)x 1.300)"2/19.6= 0.018

He1= hptHe,+hy,"+A Ej-hy, " -h,-Z;

= 0.760+0.192+0.003+0.003-0.018-0.758-3.00/2,000

= 0.181 m
Z=1, L= 1/2,000x 3.000 = 0.002
L (m
He (m) Ly (1;+1,)/2=  3.00x 1/179,065
0, 0/0,;=  0.438/0.717
f, 0.5807Q,~/0.0788Q,+0.0003+0.0171
H, (m) f, h,= 0.1518x 0.028
AE; (m) HetHy
Hoy (M) 1/2(Hy+He)=  1/2x (0.181+0.192)

3.000 m
0.000 m
0.611
0.1518
0.003 m
G Jr

OK

OK



200

H1=900

B=1300

B=1300 700

L=2.15 L1=3.00 12=1.00, L3=2.00 L=5.00
A E1=0.003 E2=0.000 A E3=0.001
EL 498,14 EL 499,268 EL 499.247
——————— e hv27=0.003) —_— e wa=0.007
— v | ety — v ~
a =0.010 e1=0.181 W  He2=0.19 hv2=0.017 -
EL 498.70 © f = N
. _ Y} o
| o 0=0.438m3/s S 5 <
Wl R & i o
S 0=0.279m3/S = o 3
2| 0=0.717m3/s |h1=0.758 h2=0.760 —> ~
—>
72=0.380
1=1/2.000 EL 498.497
EL 498.14 71=0.002 EL 498.138 \__EL 498.518
N~ Yo} <
[{e] o o
» » »
o o o




